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PSYCHOLOGY
PAPER-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  According to which theory, experiences are best remembered if given some rest after
learning ?
(A) Retroactive Inhibition Theory (B) Proactive Inhibition Theory
(C) Consolidation Theory (D) Decay Theory

2. Which of the following is an algorithm ?

(A) analogy (B) diagrams
(C) multiplication rules (D) subgoals
3.  Elaboration in memory is difficult at which level of processing :
(A) Structural (B) Phonemic
(C) Semantic (D) Both (A) and (B)
4.  Assertion (A) : When it is not possible to have equivalent control and experimental

group, a quasi experimental design is used instead of a true
experimental design.

Reasoning (R) : In an experimental design, equivalence of control and experimental
groups is usually ensured by random assignment or by matching or
otherwise.

Code :

(A) Both (A) and (R) are true and (R) is a correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

5. In a rank-order correlation :
(A) wvariables are in an ordinal scale.
(B) normality of distribution is assumed.
(C) variables are converted to an interval scale.

(D) number of cases is always less than 12.
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(A) T  foReg (R) 1 %

)

5. T TR T T H :
(A) THI =R eféTa a1 § 2 2
(B) forawor Y wrarIar ot ST T
(C) =R =1 dgad 3T+aved HI9=1 H fehan i 2 |
(D) H<T IO FT HEAT 12 | FH &T 2|

J—0406 3 P.T.O.



6.  Which of the following statement is NOT correct ?

(A) Retinal disparity is a cue for depth perception which is frequently used by the
artists.

(B) Retinal disparity is a cue for depth perception which can be utilized by a person
with only one good eye.

(C) Retinal disparity is a cue for depth perception which is muscular rather than
visual.

(D) Retinal disparity is a cue which is very sensitive aid to the perception of distance,
but requires both eyes.

7. One of the key parts of the complex electro-chemical process by which neurons pass
messages from one part of the body to another is known as :

(A) Axonic fibers (B) Action potential
(C) The Soma (cell body) (D) Cellular metabolism
8.  The two hemispheres-right and left - of the cerebral cortex are connected by a bridge of

tissue called the :
(A) Corpus callosum (B) Synaptic cleft
(C) Feedback loop (D) Sensory pathways

9.  Match List A and List B of the following parts of brain and functions :

List - A List - B
Lobes of hemisphere Broad functions
(a) Frontal lobe (i) Hearing functions
(b) Parietal lobe (ii)  Site of visual cortex
(c) Temporal lobe (iii) Seat of personality and cognitive functions
(d)  Occipital lobe (iv) Skin senses and sense of bodily positions
Code : (@ @ (© @)
(A) O @ G )
(B) () @) () )
(©) (i) (v O (@)

(D) (i) @) @  (@v)
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(A) @) @) (i) (iv)
(B) @) (@i Gv) @

(© () @v) @) @)
(D) () @) @ @)

J—0406 5 P.T.O.



10.

11.

12.

13.

14.

Arrange the following processes in order in which they occur in hearing sensation.
Use the code given below :

() Sound waves enter through the outer ear

(II) Cause movement of the fluid in the cochlea

(III) Stimulate the eardrum which sets the ossicles in the middle ear in motion

(IV) Transmit their vibration to the membrane of the oval window

Code :

(A) LILII IV (B) LIV, I, I © LILIv, I (D) LIOLIV, I

Colour blindness is related to :
(A) Rods (B) Cones (C) Brightness (D) Saturation

Match the two lists :

List - I List - II
(Concepts) (Meanings)
(a) Variable in an interval scale (i) The variable measured by the
experimenter.
(b) Operational variable (i) Experimenter effect
(c) Pygmalion Effect (iii) Effect of temperature on body colour
(d) Dependent variable (iv) Avariable measured in a scale with equal

distance between scale values but
without an absolute zero point

(v) A variable stated in observable or
measurable terms
Code : (@ B () @
(A) (iv) (v) () ()
(B) v)y @@ @) (v)
(©) (iv) () (D) (i)
(D) (v) (v) (D) (D)

Non-parametric statistical tests are used when :

(A) Nature of distribution of the variables in the population is not known.
(B) The variable is measured in a ratio scale.

(C) Sample size is more than 30.

(D) Homogeneity of variance can be assumed.

Which of the following characteristics is necessary for a hypothesis of a research ?
(D It must be precise

(IT) It must be testable

(ITI) It must specify a null relationship

(IV) It can be changed on the basis of the results of the research.

Code :

(A) L II and III (B) landIl (C) II'and I (D) landIll
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10.

11.

12.

13.

14.

a0 Hae1 # gHare T ffafaa ufwansti o6 %9 9 Ffsa Fifse frafafed s s @
GWE :

() e T IR FHO § YA FH R |
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(IV) 3ea farer 71 fereeT § 79 o=l 3T & |

§52‘:
(A) LILII IV B) LIV, I II (©) LI,IV, IO (D) L1, 1v, I

A ST Heifed &

(A) TH (B) (C) =Hs (D) wqfE
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g1 gei-11
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(d) snfa =R (iv) U1 H YA el o sT9 §HH il H =R HIYA
fort FRdrer forrg o dram &

(v) STl 19 Td A9 19 §-eH o =¥ k1 fEqu
F: @ O © @
(A) (v) (v) @) @
B v @O @ @)
(© (v) (@) @) (i)
(D) (v) (v) (i) @)
STTaIE 1 Fifeer T T 18107 o1 S92 2T § STafeh
(A) EAEH =R o forquor =1 1€ 6 T Bl
(B) =i 1 HIUA ST HI9=1 H B &
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(D) fa=em H uhEud SFfa 2kt §
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Y EREECARNHURERINCIRCY
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15.

16.

17.

18.

19.

Which one of the following was the first developed intelligence test ?
(A) Raven’s Progressive matrices

(B) Goodenough Draw - A - Man test

(C) Binet - Simon test

(D) Wechsler Intelligence Scale

Coefficient of stability in reliability is determined by :
(A) Split - half method

(B) Kuder - Richardson formula

(C) Test - retest method

(D) Parallel form method

Assertion (A) : Intelligent people show superior performance in a wide range of
situations.

Reasoning (R) : Intelligence is determined by g factor.
Code :

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) (R) is true but (A) is false

(D) Both (A) and (R) are false

Which of the following sequence of memory storage is correct ?
(A) storage - encoding - retrieval
(B) encoding - storage - retrieval
(C) retrieval - encoding - storage

(D) encoding - retrieval - storage

Assertion (A) : As one gazes down, the two parallel railway tracks seem to meet at a
long distance.

Reason (R) : The texture of an object is perceived to be different when it is distant.
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

J—0406 8



15.

16.

17.

18.

19.

frfafed gfg otemn o 9 Feuam feger ufaure g o :

(A) EH rifaa dfeew (B) TEUA® SI-T-HT T
(C) fo-wEHT Ttem (D) O%eR gfg AT
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(A) 78 faea fafy (B) F Fa=rEma T
(C)  woremor QT Yeror fafy (D) HHMTH YehR fafy

HIAT (A) : Fhgam @ fafe afifeafat § som AT @@ F3d §)
qh (R) :  dfg Feion g a@ 9 2an g1

Hehd
(A) THI(A) T (R) ¥ & (B) (A) ®tT ¥ g (R) 7o §
(C) (R) &1 % fovg (A) Tord © (D) <FI (A) T (R) Ted §

T Her & Frfafed FHes] § 9 HF 9 981 ¢ ¢
(A) HENTHR - e - T
(B) 3AFET - WER TR - T
(C) THIW - 3R - WL THU
(D) 3fFT - T - HS[ W

HIT (A) : W Tk IR e T 1 FHFR <T@ g e WY H el g8

fears uect 2
T (R) : FFET vgred #F oree aget g8 AR et & el 98 axg X feerd &1
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(A) (A) IR (R) SFI T € 3T (R) T IR (A) FT1

(B) (A) #iR (R) S G § oifer (R) TEY e T ¥ (A) #
(C) (A) HF § WY (R) THA B
(D) (A) ¥1EF § W (R) A B
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20. Match the items of List-I with those of List-II.

List - I
(a) Continuity

(b) Common fate
(c) Proximity
(d) Closure

Code : (a) (b)

(A) ® @)
(B) (i) ()
(©) (i) (i)

(D) (i) (ii)

(i)
(i)
(ii)
(iv)
(c) (d)
(i) (i)
(i) (i)
i) (iv)
(iv) ()

List - II

tendency to perceive a whole object even where none
exists.

objects in motion together appear to stand out from
their surroundings.

elements that continue a pattern are likely to be seen
as part of the pattern.

elements found close together tend to be perceived
as a unit.

21. Nature of intelligence is like electricity which is easy to measure but difficult to define.
Who advocated this view ?

(A) Jensen

(B) Binet

(C) Spearman (D) Gardner

22. Arrange the following processes in order in which they occur in test construction :

()  Item analysis
(I)  Validity

(III)  Reliability
(IV) Norms

Code :

(A) I, I, 11,
B) I, I, I,
(C) 1, I, T,
(D) 1Iv, 1, I,

v
IV
IV
II

23.  Which two processes are always involved in perception ?
(A) Attention and Subliminal Stimuli
(B) Subliminal Stimuli and Sensation
(C) Sensation and interpretation
(D) Internal sensation and distraction

24. A Valid theory of motivation accounts for :

() Innate tendencies for action

(II) Tension reduction and equilibrium
(III)  Growth and development of behaviour
(IV) Arousal, selectivity and direction of behaviour

Code :

(A) Tand II are correct
(C) Only 1V is correct

J—0406

(B)  Only III is correct
(D) I and III are correct
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20.

21.

22.

23.

24.

arfereRT 1 k1 aiferert 11 & afod F1C

arfetarT I qarfeahT 11
(a) TATawn () FS AT 1 fafa 7 «F 9yl ok & g Tww #1 ugfa
(b) wEH frafa (i) HERT FITR] H1 A § TR &A1
(c) HETar (i) T a5 T foeq § feaar @ §, 3¢ 39 ufaey & fed
EAGERRCIIS IR
(d) SRERA (iv) GEI9ercT dwell 1 Ueh ThT8 o ®9 H Tcag 1ol #1 Jgfd

#c: (@ (b)) (© (

&

(A) (1) (v) (@) (i)

(B) (i) (v) () (i)

(©) () @ @) (@)

(D) () @) @v) @)

gfg =1 @E fog[a & 9um ¢ fSue 9o e § g afenfia s gt e <9
gfamfed fean

(A) A (B) Tz (C) TrwA (D)

T a1 fAmior  gRane frfafea afwansil @ waeg F i
() Ug fagemo
1) e
1) foreag=Tgan
V) HH®

) 1 Ir, u, 1Iv

) I, 1, I, Iv
) 1, m, 1, IV
)y IV, 11, I

A TR H A 1 2 IR Hea wiHe Bkt § 2
(A) 3HIYM T ST FIh (B)  3Fel=d IEIUsh e HagHl
(C) HagT o fereiwor (D) Aidfer HgT Ts 4™

aifaren & S fagra gr1 e o 9 T T &1 Tos iR 2§
() TR =71 stawiifa vgfaai
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25.

26.

27.

28.

29.

Match List-I (Theorist) with List-II (Concept of Intelligence) :

List - 1 List - II
(Theorist) (Concept of Intelligence)
(a) Cattel (i) A triarchic theory of Intelligence
(b) Spearman (i) Seven independent Mental abilities
(c) Sternberg (iiiy Two clusters of Mental abilities
(d) Thurstone (iv) Intelligence is g factor
Code : (@ @) ((© @
(A) i @ () @)
(B) (ii) (v) @) (i)
(©) O @) (@v) (i)

(D) (iv) (i) (@) (i)

Which of the following statements is not correct ?

(A) Group factor theory of intelligence is associated with Thurstone
(B) Multifactor theory of intelligence was propounded by Thorndike
(C) Multi-Dimensional structure of intellect was developed by Guilford
(D) Two factor theory of intelligence was proposed by Vernon

A continuous reinforcement schedule is :

() effective for strengthening a new response

(I)  a fixed - interval schedule

(III) a procedure involving reinforcement of each occurrence of a desired response
(IV) a fixed - ratio schedule

Which of the following is true ?

(A) 1II, III and IV are correct. (B) I II and III are correct.

(C©) L IIand 1V are correct. (D) L 1II, III and IV are correct.

In classical conditioning, the time interval between CS and UCS is an important
determinant of the strength of conditioning.

Which of the following statements is true in respect of such temporal arrangement ?
(A) Longer intervals lead to better recognition of the CS.

(B) Simultaneous presentation of CS and UCS is necessary for conditioning to occur.
(C) Short intervals result in early extinction.

(D) Extremely short intervals of less than 0.2 second rarely produce conditioning

A person who suffers a concussion may not be able to recall what directly preceded the
injury. This happens because the injury interferes with :

(A) Retrograde amnesia (B) Elaborative rehearsal
(C) Rote rehearsal (D) LTM

J—0406 12



25. F=I-1 (Taeife) o1 g=1-11 (SfgHen &1 sfeemon) § gafad F16T -

gei-1 gei-11

(foaifae) (FfgHTT FT AT )
(a) ohed () Ifg % Eenfhw fagrd
(b) TR (i) 9 Teds HETEE &Had
(c) e (iii) WA &HATSAT 6 < T
(d) oded (iv) dfggT@T

Fe: @ O © @
(A) @) @@ @) ()
(B) @) (v) (@) (i)
©Q @ () (v) (i)
(D) (v) (@) @) (i)
26. 7 H ¥ HF W R W I
(A) g A Ifg H THERN fagrd feam
(B) 9eRE H dfg i Tghieh fagrd faa
(C) Tiewe A dfg o1 dgAawT sHEe i fagra ufaufed feani
(D) =9 1 9fg o fgones fagrd =1 fquifed foram

27. AR IS SFTEET | ¢
() =T SAFRAT Sl HSlgd K H YureRIe
() TAfved sique sg=l
(111 WY fopan foed sfea ufafman 1 soufa o gHelem wnfga 2
(1v) fAfead srgumd srge=t
(A) 1L, I @& IV e g1 (B) 1,1l T& Il W& %1
(C) 11 TE IV & &) (D) 11 I @& IV &Y )

28. U= SFIFA H CS IR UCS H 9T STalel ST{a-4 &1 Vfad i Tk Heeaqul e 3139
U waee & g H frafafed § 4§ 9 W w3 ©
(A) T SFAUA CS FT 3T U8 F1 SR TR HT 2 |
(B) 3T e o foTu strerearsh & fof CS q91 UCS =l Teh ©19 WA feram s |
(C) B st o1 fvepd ¥h faeida # 2 g1
(D) T BRI S M 0.2 Hohe | FHH IS 71 HeT Tgare IS T ¢ |

29. fagas ufaq <afaq &1fd o qETHA 1 I (recall) 7T L Hehdll | I8 THAT BT & F3ifeh &Tfd

AR
(A) IR=EY i @l (B) TordreHeh qaivam™
(©) e feda (D) <R A
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30.

31.

32.

33.

34.

35.

Glands of the endocrine system that release hormones into the blood stream are :
(A) Endocrine glands (B) Parathyroid gland
(C) Thyroid gland (D) Pineal gland

Match theories of intelligence (List I) with their conceptualization (List II)

List - I List - II

(a) Gardner’s Theory (i) Intelligence is a basic processing mechanism

(b) Anderson’s Theory (ii) Each mental activity involves an operation on
some kind of content that results in some
product

(c)  Ceci’s Bioecological Theory (iii) Intelligence is an ability to solve problems

(d) Guilford’s Theory (iv) Intelligence involves multiple cognitive
potentials that are biologically based

Code : (@ @) ((© @

(A) (i) @v) ) 0

(B) (i) @ Gv) ()

(© @ @ > @)
(D) (iv) (i) @) @)

What do you mean be abbreviation PQRST ?

(A) Preview, Question, Read, Self recitation, Test

(B) Preview, Question, Retrieval, Self recitation, Test
(C) Preview, Question, Retrieval, Storage, Technique
(D) Preview, Question, Read, Search, Test

A problem solving heuristic is :

(A) guaranteed to find a solution, if one exists.

(B) a strategy that guides a search through the problem space.

(C) likely to be less effective than a strategy such as means-end analysis.
(D) needed for unfamiliar problems, but not for familiar problems.

A conditioned response becomes extinct and then reappears after an interval. This
phenomenon is known as :

(A) Proactive learning (B) Retroactive learning
(C) Latent learning (D) Spontaneous recovery

As children grow older, they can move beyond the environments provided by their
parents and begin to select and construct environments of their own. This is known
as :

(A) Reactive Interaction (B) Evocative Interaction

(C) Proactive Interaction (D) None of the Above
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30.

31.

32.

33.

34.

35.
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SAEMET 51 &1 ol eyl Sl BRARE 1 @d Tiid W fHad w51 3
(A) Fa:Tet afet (B) TusS Ufy
(C) vE Ul (D) oI ey

gfg o fagTal (FET1) &1 391 fa=ar vtk (=111 ) 9 g9a F19T :

I T

(a) TR & fagra () Ffs T qea wuEE i 2

(b) TewH fHgrd (i) TAE HHfEE TR H foret fama avg W
dfran 21 5 o1 ufom e g ¥

(c) HET drEEehlclsIRe fagrd (iii) g T THEE F1 TH & |

d) frawe fagra (iv) Ff§ 7 3T HIHTHS eMaisii S Iried
¥ ToFat 3meR Sifes 2

HT: (@) () (o) (@

(A) () (v) @) ()

(B) (i) () (iv) (i)

(© @) (@) (@) (iv)

(D) (@v) (i) @) ()

IEC | PQRST &1 fa¥gd €9 JlET

(A) TEEEH, I, I, T HEERUTS, T1aT0l
(B) JoiaYH, T, T, T HERUTS, T IeT0l
(C) YoeeH, UsH, T, YR, d%h- 1ok

(D) YoISEH, U, UeHl, WIS, T

T YT Teh Tod: 3 ugfa & S

) A I TEEAT 7 Al IR FHIH HI TR HET S|

B) U JUHRH & S HHAT &5 51 @S 1 AR agkT 2 |

Q) ‘FrHE-ug’ fergermoy (means-end analysis) SET ugfa | & gaEeneT §1
) TSt srafifaa guene o fae sew 8 7 fof afifad weensti & fo)

>

e~~~ o~

T STaGd SR HHE B ST 8 S YA: Teh STl o o1Q Yohe Bcl o, TH Fe1 hl Fhad
7

(A) ITHET A (B) YSrHET sAfaTH

(C) 9w st (D) ¥@d el

S = 9 B § o WU @ gW feu T ARy § 9 fee wehd € IR 1 SIER
AT & =TI 9 TA Hohdl ©, Tg ST Sl ©

(A) YT UERes TR (B) dligsh YREufes foha

(C) emeieT qreEufish fora (D) 1 T

P.T.O.



36.

37.

38.

39.

40.

Match the List - I with List - II :

List - I List - II
(a) Cannon - Bard (i)  physical reactions come before experiencing emotions.
(b)  Schachter - Singer (i) emotionsand bodily responses occur simultaneously.
(c) James - Lange (iii) emotional experience depends on perception of a

given situation

(d) Tomkins (iv) the feedback from facial expressions cause or
intensify the experience of emotions

Code : (@ B () @
(A) @H @G @)
(B) (i) @) @) o (
(©) (iif) (iv) (@) (D)
(D) (iv) () () (@

The drive-reduction theory of motivation explains behaviour in terms of :
(A) restoration of physiological balance in the body.

(B) internal drives pulling the organism into activity.

(C) external stimuli acting as motivators of behaviour.

(D) both (A) and (B).

Individuals often act in ways which seem to be irrational. This was explained by Freud

in terms of :
(A) Preconscious motivation.
(B)  Unconscious motivation.
(C) Predominance of super ego over id and ego.
(D) Predominance of ego over id and super ego.

The last stage of Erikson’s theory of psychosocial development - integrity versus despair
is based on :

(A) evaluation of one’s life course.

(B) developing interpersonal relationships.
(C) exploring the environment.

(D) having a satisfying job.

According to Freud, the mechanism that leads to fixation at a stage of development
is :

(A) excessive anxiety

(B) depression

(C) too much or too little guilt

(D) too much or too little gratification
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36.

37.

38.

39.

40.

qrfetert 1 oh! difcteht 11 ¥ Gaferd F1f9T

arfereRT-1 arfereRT-11
(a) HII-TTE ()  Imiftew ufafreard Gom % srve ¥ ved gkl
(b) YEE-fER (i) AT 3R IR S TH T TeuE BT T |
() Srg-ar (iii) wiafTeR v feafq & Tege Yo @ et #wt €
(d) emfeH (iv) e % wiEl w1 GAHORE, Wi sTel & FRU ¥
31 3 Al | A5 1 AN ¥ |

FHT: (@) () (o) (A

(A) (@) @) (v) (i)

(B) (i) (i) @) (i)

(© (i) (v) () @

(D) (v) (@) (D) (i)

HIYIRON <1 gr5a eaw g eeR &1 e1eal ¥l & -
(A)  ITCH SMIRER R Sqe ohl qH:%fud sk

(B)  3Taf¥eh UUiIE o HRUT STa FoRam &1 iR ST B 1
(C) dTRI Uk TIaRR h AR o €9 H SR Hd ¢ |
(D) (A) T (B) Il

faq I AT TFaeR 3 &1 39 F1 e FES A F1 ¢ ¢
(A) geeraT oo

(B) 3T=aA AfHION

(©) R 1 3 T M W IYee BFl

(D) <1 1 3 TS YO g0 U4 B

TREHA o FAMHIRR forehie fHgTd #1 31f-aH STe@en-Ts 1R (integrity) sHTH fren senfia
g

(A) 3T ST & Hedishd T

(B) HMeTH Frardi o forehid W

(C) SIderul F1 @ISl T

(D) M H giH T

TRIIE o TR faahd o1awen ¥ a8 i €1 fha & i1 fRader &1 ®Ro1 91 © -
(A) T fom

(B) R (fedem)

(C) ogd 3if4eh I1 A YUY qIel

(D) =gd Aty I HH HfY
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41. Match List I with List II :
List - I List - II
(Phenomena) (Concept/Principle in
operant conditioning)
(a) More preferred activity used to (i) Conditioned reinforcer
reinforce less preferred one
(b) Withdrawal of an aversive state (i) Positive reinforcement
following a response
(c) Introduction of an aversive state (iii) Premack Principle
following a response
(d) Events acting as positive (iv) Punishment
reinforcers through their
association with primary reinforcers
(v) Negative reinforcement

Code : (@ @b (@ @
(A) @  (v) () (i)
(B) (i) (v) (@v) (D)
© @  (v) (v) (i)
(D) (v) (iv) (D) (D)

42. Assertion (A) : Variable - ratio schedule of reinforcement results in responses which
are highly resistant to extinction.

Reasoning (R) : When reinforcement is infrequent and intermittent, organisms
continue to respond because they cannot recognize the nonavailability
of reinforcement.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

43. Design that reduces the number of rival hypotheses but compromises control is :
(A) Multiple - Factor Design
(B) Randomized Design
(C) Mixed Design
(D) Quasi - Experimental Design

44. Perceptual process involves :
(A) visualizing the stimuli only
(B) feeling of the stimuli only
(C) organization and interpretation only
(D) all of the above
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41. G116 GeEi-11 9 gafad F1f9T :

gei-1 geET-11

(¥TeAT) ( 3Tt / g )
(a) SR MATHERAT e T Rt 61 94 () STEfHd YT

1 grfiehdr AT fRArel & HaeH

% fa e

(b)  STefoeRt feafd ol STfFa o G geMT (i)  EMKHER Yo
(c) orefaeR feafd @1 eTfohan o og o (iii) U fagrd
(d) ISl WA GAeieH o TeEre %k (iv) afed

BRI YA F1 O 1wl

(v) THRIHE GAe
FT: (@) (b)) (o (@
Ay @ (v) @) (i)
(B) (i) (v) (@v) ()
©Q @O (@) (v) (i)
D) )  (v) @) ()

42. HYIT (A) : = AU AIG=T H Yoo UET UfAfRar oo el § S faeied 3g 9gad et
JfeRIE
HIOT (R) : 519 QFeieH 318ad, faweegad Bl & of ST o/fhd &1 STt ¥ad § J4ifh a8
el &1 TR Bl 6T 9@ Hehdl |
-
A) (A) 3R (R) T §ET 7 3R (R) T <€A § (A) FT1
B) (A) 3R (R) ST T T IR (R) T eI 721 § (A) F1
C) (A) I WG (R) T 7|
) (A) oA § 9% (R) T R

o~ o~ o~ o~

43. 9 3ifyered i1 FTaT o1 wAIfaE d gU o R | Tl Al | ¢
(A) TG FRH SAfHTY
(B) HITYHRd Afyyercy
(C) faf¥a sfyerey
(D) JAET YURTRH 3TfHekey

44, TILRHS iHAT H
(A) et 1 fads SEE
(B) <EIUehi I FH% wegH
(C) e wo frt
(D) TWfdfEd 91
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45.

(45-50)  Read the passage below and answer the questions that follow based on
your understanding of the passage :

With the growing interest in organizational factors in memory, it was perhaps
inevitable that psychologists would turn to the analysis of mnemonic devices. Mnemonic
devices are those which enable the person to enrich or elaborate upon the material to
be learned, all with the aim of helping her to remember it better. They typically help
the person to classify and organize the material.

One mnemonic device that has been analyzed extensively (Bower, 1970 b) is the
“pegword” method for learning ordered lists of items such as shopping lists, errands,
historical events, sets of laws in psychology, and so on. The person first learns a list of
rhyming pegwords, pairing concrete images with the first 20 or so integers. In learning
a new list of items, the person then uses successive pegwords as imagined pegs upon
which to hook the successive items of the list. As the first list word occurs (cigar), the
person is to call to mind her first pegword, and form a mental image of some vivid
scene of interaction between the two objects.

The images may be as bizarre as one wishes - their effectiveness seems independent
of that aspect. This same procedure for imaginal pairing is followed for each of the list
words in turn. To revive the list in memory, the person needs only to go through her
already well-learned list of pegwords, and as she considers each one in turn she tries to
recreate or recall the imaginal scene elaborated around that pegword image; from this
remembered scene, she can usually name the desired item (“cigar”).

This and similar schemes are exceedingly effective, at least in comparison to normal
free recall of subjects not taught to use any special tricks. One of the main reasons the
device works so well is that the person has a systematic retrieval scheme, she knows
how to cue herself with the items (the pegwords) to which she has explicitly associated
the list words as they were presented. The usual free-recall subject, on the other hand,
simply does not know how to remind herself of all the list words she knows. The
advantage for the pegword user, therefore, is partly the result of her knowing how to
systematically cue each of the words from each input-list position. The second advantage
of the pegword method undoubtedly stems from its deployment of mnemonic imagery.

This passage is primarily concerned with :

(A) organization of memory in human brain
(B) free recall methods

(C) techniques of recall

(D) strategies for better memory
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45.

FRAAfIRaa TTEn9r &t U a9r 3791 TENIT FT GHGT & STTER 3T (45-50) TGTT FHITd -

Wfd ¥ HeAH deell | sect & o HRU 9 HHAd: S B Tl foh A 791
¥ TROITEd g ugfadl 91 iR s oY | woRifaa g vsfaat o § o cafia e 1
TG 1 TS T W I W & 3evd § faxga an foerfaa ovar © | 399 afad o) axgeil & 9ied
71 iR | foeiw wemet faert €1t woomifad gfg usfa e’ fafy & foad Tiem #1
TG H G H & oY o Tieer1-g=1, wear, Uerfae 7ea o1 9, Fifasm & f=m
TS | AfId YoHa: ooreg  UTere’ o1 g=1 T Radl & a9 il UfaHied o6l YoM 20 A1 37 o |1
ST GRSl § | Y T T % gHe fad <7 T R o o 1 wenfd s 81 s
=1 1 Tom v (FAR) o1 § @ <afad 79 § eer e’ Sl § a1 QM o a9
Heftrd T98 39 o1 AHTS IfaAM IR 6 & | IfaH STETE (bizarre) B Hehdl § ST 372
B, Tohvg THHT TS TW el Toe1 Bl ¥ | AT UfHA g1 6 R ved] o fan #Y St 7 1 wfa
T &M % o wafeq =i foran gen ' Trerd”” 71 S gt © ford ufan A &1 2t © s
e W A g1 o e 1 (FAR) 3avd 1 9% 39k ST T 5 srcaftsk gweRme 3 8,
A H Y, TAFT G o T Yo g TR g € Stel i Cfeen w1t s s 3@ fafu &
MY B T Ueh &I RO ¥ T <afaq = god ¢ gk g’ 2k © ey o smar © fw
fFE YR TTEE 1 g1 W Helg FE1 | HERT Tods Q0 H eafad, T SR, 98 A

Sl fo fohd TohR =T o Sea] bl IH: A1G o Fohal 8 | ‘TS’ & <HegR &l i, T9 UhK,
gfaen gt ¥ o Ucde Hond 1 vl o WY T YR Helg #X 1 3wl gfgen 7 fw e’ fafy
‘fagfs ufaumi’ @ e gan 7

I TR o et ©

(A) HFa giiares § Wi 1 gired
(B) & - T fafy

(C) T &7 faferar

(D) el Wfd 1 TUHe
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46. The “pegword” method involves :
(A) using some rhyming words in sequence to associate with the words in a list to be
memorised.
(B) using hooks to remember words.
(C) using numbers to remember a list.
(D) using rhymes to organise the words.

47. Assertion (A) : Effective use of mnemonic devices improves recall quite significantly.
Reason (R) : Mnemonic devices provide effective cues for retrieval.
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

48. Mnemonic devices are :
(D useful to learner
(I)  strategies for deciding on the order of free recall
(ITI) the ones which provide retrieval schemes
Which of the following is true ?
(A) Iand II are correct (B) Il and III are correct
(C) [Iand III are correct (D) L II and III are correct

49. A retrieval scheme is :
(A) a plan for the order of recall
(B) one way of reminding the learner of the item to be recalled
(C) one of many “pegword” techniques
(D) a specific imaging technique

50. Which of the following statements is/are true of pegword device ?
() The nature of images do not affect the effectiveness of pegword technique.
(IT) It provides the learner necessary cues to systematically recall items.
(IIT) The advantages of the device are due to the use of mnemonic imagery.
Choose the correct alternative.

(A) TandII are true. (B) Tand I are true.
(C) IIand III are true. (D) L II and III are true.
-00o0-
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46.

47.

48.

49.

50.

“rrerg’ fafy fifed @

B) IIeal i A1 T ok fAT gk’ <1 SUFNT
C) =1 %! AR HH o feI ki 1 AN HHT|
D) el ol Hifed e o fAT Seigdl sl IUART 1

o~ o~ o~ o~

HIT (A) : TRy fafudi & guEene’ IwEm 9 g 1 STeEd Famug e S

HIUT (R) : Twgfs fafiri ¢ fggaa’’ & faw gumastet d&a d §
-

(A) THT (A) T (R) §eT & T (R) T @A S (A) FT1

(B) <Ml (A) T (R) WE & fofrg (R) W <& =1 € (A) &1

(C) (A) WeT? g (R) TTomd 2

(D) (A) & § T (R) WET 2

Tfaafy TR E -

() TrEHa & foag o g1

(II) TEIAT-A1E i o fAU IUHA (Strategies for deciding) 21
(II1) S figrad &\ It I €|

T § B Tl T

(A) 171 F T (B) II T III §eT ]
(C) 17T Il |21 (D) 1, II 9 II ¥eT 21
e W § :

(A) G FHH 6 THH F Th ©H

(B) I fohdl STH 9Tt 3TEeH o T 1@ aTel ol Hehd o F1 T fafy
() ‘wmrerd’ ufafeai § & wh

(D) U TR koot ufafy

TarE fafyr & grers & HH 9 HYT T E ¢

() ufemn &1 &y Trag fafy & gore s gfad 9% e S

(II) HHIS €9 Y UG &l 1€ 3 § YT I 9T Geohd UM Tl 2 |
(1) FHIfHes gfamredi o1 e 59 fafy @ o g1

(A) 171 | T (B) 1T II WRTR
(C) I Qe Il §eT & (D) 1,11 de I ¥&T &
-00o0-
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